[ Efficiency vs vertpos |
~ 0.05

9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015
0.04
0.005

.................................................

.................................................

T

o 1Of

IS

m 11 --------------------------------------------
200 U U ) I S P feecenaenaas

T R TTRT [ TT T[T T [T [T [ TT T[T T[T [TTTT[ToTT

107 1

=
2
N

10 0?
TP vertr (cr%)

—=— DQM_V0001_R000000001__Global_mKFITOLD__RECO

Efficiend —— DQM_V0001_R000000001__Global_mkFit100_RECO
ICleNd ., pQM_v0001_R000000001__Global__mkFit100tobtec_ RECO

~ 0.02 : : : : :
R T T e
016F : : ' : '
014F
012 : : : : :
T N T A T
TG USRS SRS RIS SRS 1 1S s
0.006F : : : ;
0.004F
0.002

+Q
1.2

EHHCIRRCY S 8T

..........

Ratio

1.1

-30 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.05
>
00.045
IS
7 0.04
$.035
2y
c0.03
@
8.025
(0]
0.02
0.015
0.01
0.005

e
1.2

e
T

...............................................

...............................................

&

..............................

Ratio

1.

i

|
6”:

10 15 20
Sim. PV z (cm)

[




	Contents
	Page 1


